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⑪ Arc FB & FQ parallel
? Do they pt in the same

direction ?

A = (( , )
,

B = (3 , 4)
,
P = (1, 1) , a = (1

, 10)

② R = <-2
,
2)

,
calculate legth of ER

.

③ Find composts of 3(3 : -4j) + 5(i + 4j)

12-

① What is the right-hand ok ? Why does it tell us to

labal R ↳si & z

I
reL X

② Show r(t) & sit define the name line :

r(t) = (3 ,

- 1
, 4) + t (8 ,

12
,

- 6)

S(t) = (11 ,
1

,
-2) + + 44 ,

3
,

-3)

③ Find pt . of intersection of (if it exists) :

r
, (t)

= (2 ,
1) + t )- 4

,
0

, 1)

r(s) = [ - 4
, !5) + 32, -2)



-

① Find the angle between (3 ,

1
, 13 & 22 ,

- 4
, 2)

② Let v
,

w be non-zero ventors and let =entew

Show the argl between as & v is the same as the

angle between u & W

③ If v.a=wia for nonzero vactors v
,

w,
acR"

,
is

it true that v =w
?

-4 -

① Assume 4xr = (1 ,

1
,
03

,
new = 40 ,

3
, 1)

,

Uxw = 2
,

-1
, 13

Use the properties of the cross product to find :

a) (34 + 4w) x w

b) (n+r) + (n -v)

② What is itj , jxk,
Kxi ?

③ Compute the volume of the parallelapiped spared by :

u = (2 ,
2

, 1)
,

v
= (1 , 43)

,
w

= (0
,

- 4
,
0)

-



-

① Find the equation of a place with normal rector

R = <1 ,
3

,2) that good through (4
,

-1
, 1)

② Find the equation of the place passing through :

P = (2 ,
- 1

,
4)

,
Q = (1 ,

4
,
1)

,
R = (3 ,

1
,

- 2)

③ Find point
of intersection of

x+ y + z = 14

r(+) = (1 ,
40) +

+ 40 ,
2

,
4)

H -

①Does r(t) = (sint, costle ,
A intervent the Evaxis ?

If or
, where ?

② Find the center and radius of the circle :

rCH = 7i + (12c-sH)j + (12sirt) k

14-
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-

① Let r , (H) = (t ,
t , t)

,
rect) = Let

,
e

,
et

a . (r, (H - rz(t)

b . (r , (t) + r(t))



② 14+ + 47
,
et - 1) dt

13-

① Find lengt of :

r(t = [27 , k(+), +2)
,

1 = t =4

② Find the arc length function s(t) for :

r(H = (t2 t ,
+3)

,
a

= 0

③ Find are length parameterization of :

a) r(t) = (3 + + 1
,

4 + - 5
, 27)

b) r(t) = Let sint
,

etcost
, et)


